1 Rotation

Ex,y) in {x"2+y"2=1}; [1]
x = cos(pi/4)*x—sin (pi/4)x*y;
y = sin(pi/4)xxtcos(pi/4)*xy; [2]

}

2 Rotationl0

x o {[[x[[=1}; [1]

x1 = cos(pi/3)*xx1l—sin(pi/3)*x2;
x2 = sin(pi/3)*xl+cos(pi/3)*x2;
x3 = cos(pi)*x3—sin(pi)xx4;
x4 = sin(pi)*xx34cos(pi)*x4;
x5 = cos(pi/2)*xb—sin (pi/2)*x6;
x6 = sin(pi/2)*xb+cos(pi/2)xx6;
x7 = cos(pi/4)xx7T—sin(pi/4)*x8;
x8 = sin(pi/4)*xxT+cos(pi/4)*x8;
x9 = cos(pi/6)*x9—sin(pi/6)*x10;
x10 = sin(pi/6)*x94cos(pi/6)*x10;[2]

}

3 Filtre

x = [0,1];

y = [0,1]; [1]

while [2] (true) {
x = (3/4)xx—(1/8)xy;
y =x; [3]

}

4 Oscillator

h = 0.01;
c = 1;
x = [0,1];
v =[0.1]; [1]
while [2] (true) {
X = x+hxv;
v = —h*x+(1—h*c)*v; [3]
}




5 Symplectic

tau = 1;

x = [0,1];

v = [01]; [1]

while [2] (true) {
x = (1—(tau/2))*x+(tau—((tau"3)/4))*v
v = —tausxx+(1—(tau/2))*v; [3]

0.

}

6 SymplecticSeu

tau = 0.1;

x = [0,1];

v=1[0,1]; [1]

while [2] (v>=1/2 [3]) { [4]
x = (1—(tau/2))*x+(tau—((tau"3)/4))*v
y = —tausxx+(1—(tau/2))xv; [5]

}

7 Arrow-Hurwicz

a = 1;
b = —1;
c = —1;
r=1/2;
u= [0,1];
v = [0,1];
x = [0,3/2];
v = [3/8,11/8]; [1]
while [2] (max(|x—ul,|y=v[)>1e=9 [3]) { [4]
v =y
x = u—rx*(axutbxv);
v = vi(r/2)¢(bruc); [5]
if [6] (y<=0 [7]) {
y=0; [8]
[9]
+ [10]




